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[,ighth Semester B.E. Degrce Examination, Aug./Sept.2020
Software Architeeture

'l-ime: I hrs. Max. Mat.l<s. 100

Note: lrrsruer ony FIVE.full questions, sclcctittg
atleast TIVO questions.froru eerch part.

PART - A
1 a. \Vhr softr,vare architecture is imporlant? , (04 t\,tarl<s)

ir. l)cllnc Softrvare Process. Explain its activities. (08 tlarks)
e . I r|111i11 nrorlulc arrd allocation stlllcnlrcs. (r)8 \t:rrks)

2 u. lrxplain the control loop solution fbr nrobilc robot. (0(r \,tarlis)
t', I rlrllirr KWIC with implicrt invocirtiorr sclrcrnc. ir)(r \t:rrt,r)
c. Defrnc the foliowing with an exampic:

(i) Sct point (ii) Clontrolled variablc
(iii) I'ced control system (iv) Feecl forward control system. (0{t N,tartis)

3 a. \\Iirlt is availability? Explain the general sce nario for availabiJity. (08 Nlarks)
b. l:rplain Business QLralitics. (0(r N,tarks)

c. I-.rplain Usability Tactics. (06 Marks)

4 a. \\1hl{ rrrc the CRC's of a blackboard patterr? (06 \tartis)
b. Irxplain the scenarios of pipes and tillers pattem. (08 \,Iart<s)

e . l rlrl;1111 lity six implementation ste1.5 ollayer paLteln. 106 }lrrrLs)

PARI- - t3

5 a. Ilrplain the benefits and liabilities olbrokcr pattem. (07 Marks)
h. l rlrl11i11 tlrc clynamic sccnarios ol'MVC pattent. r08 M:rrks)
c. Hxplain any 5 implenrentation steps of PAC pattem. 05 Martis)

6 a. What are tlie known uses of reflectiorr pattem ? (.05 \{arks)
b. What are the steps involved in implcmenting microkemel pattem. (10 .YIarks)

c. lrxplain Rcflection patteni with its contcnt. problern and solution. (05 i\{arks)

7 a. [.ist and explain the steps to implement a rvhole-part st]xcture. (10 \Iarhs)
b. What arc the bcncfits and liability ofproxy strr,rcture? (05 Marks)
c. l'.rp)ain the steps to implement Master Slave structure. (05 Nllarlis)

fl a. [::rplairr tirc steps involved in clesignirrg an architecture r.rsing ADD. (10 VIrrks)
b. [rrplain the pafts of a document vier,v. (10 l,larks)
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3 time, average service time,
digits

tter I0 lterations'/ Assume
: 0. The activity times are

rucks are at i

n Table Q2 ('
Table Q

rs and

Loadins time (minutosi), t0 5 5 l0 15 10 10 15

,,,Weishine time (minuiesil$ 8 t2 8.,,. 16 12 8

Traveltirne (minutes) 30 60 80 id0 50 70

3 a. trxplain the follow
(D Binomial distr

h. Explain the follow
egative Bihomial distribution. (06 Marks)

(i) Uniform distribution (ii) Exponential distribution. (06 Marks)
c. Suppose that the life of an jndustrial lamp, inthousand of hours, is exponentially distributed

with failure rate l" :1 (one failure every 3000 hours, on the average). Fincl (i) The
J

probability that thc lamp rvill last longer than its mean life. (ii) The probability that the
larnp will last between 2000 and 3000 hours (iii) The probability that the larnp will last
another 1000 hours; given that it is operating after 2500 hours. (08 Marks)

10cs82

prOoaoltrty oI occurance equal to u

distribrrtion as shown in table Ql (b).

Table O1

ilce trme varles

b)-s efvlog r istribution
Sclvice Time (Minutes) I 2 1

J 4-_l 5 6
ProbabilitY ,,." ''r ::::::""' 0.0s 0.10 0,? 0.30 0.25 0.10

Develop si
and averag
fbr arrivals

l*t iiii tabte for 10 custom
. Customer spends in s

.72 ls.94 30 9%75

:rs. Find average waiting
rstern. Consider random c

23 and 30
t

l of 2

Eighth Semester B.E. Degree
$ystem Modeling

Time: 3 hrs. Max. Marks:100

for services as 84, 10,J4,53, 17,79,91,67, 89,and 38 sequentially. (10 Marks)

Explain the terms : System. Model, System statc. List, Event notice, Event list. (06 Marks)

cottstruct the simulation table. Estimate the average loader utilization and average scaie

Note: Answer FIVEfull questions, selecttng'ht least TWO quesffi!. om euclt part.
.*, 'seit-/ , E+,

Wrtlr a neat flow diagram, explain tG;t.prffimulation study. (10 Marks)
A small shop has one checkout counter. Custonters arrive at this checkorLt counter at random
time fi'om I to 10 minutes apart. Each possible value of inter arrival tirne has the same

Six durnp trucks are used to haLrl coal from the entrance of a mine to the raiiroad. There are
two loaders and one weighing scale. Each truck is loaded by one of the two loaders. After a

loaditrg. thc tnrcl< immediatcly rnovcs to thc scalc to be weighed. The queuc systent at the
loaders and weigh scale are ordered on a first-come-first-served basis. After being weighed a

truck begins a travel time and then afterwafd returns rrtp the loader queue. Model and
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a. Explain the characteristics of queuing system. (05 Marks)
b. List the dift-erent queuing notation for parallel server system$ and the steady state par"ameters

of the M/G/1 queue" Explain very briefly. (10 Marks)
c. Malfunctioning of machines occurs according to a Poisson process, at thc ratc ), --1.5 pcr

hour. Repair by a single mechanic take an average time of 30 minutes, with a standard
deviation of 20 minutes. Find the average broken machines over the long run. (05 Nlarks)

5 a" Explain linear congruential

0.7945.0.1530 (lo \tarks)

of an intersection in a 5-minute
five workdays over 20 week

ta and appear to follow Poisson
distribution. Apply Chi-square Goodness of fit test at level of sisignificance tI::1::]

maximal period can be achieved? Explain. (05 N{arks)

b. The sequence of numbers 0.44, 0.81, 0.14, 0.05 and 0.93 are generated. Use the
Kolmogorov-Smirnov test with u:0.05, to learn whether the hypothesis. that thc nurnbers

are uniformly distributed on the interval [0, 1] can be rejected? Take Dnn, = 0.565.
(05 N'larks)

c. Buses arnve at the bus stelp according to a Poisson process with a mean of one bus per
15 minutes. Generate a random variate, N, which represents the number o1'arril,ing buscs
durirrg a 1-hour time slot. R.andom numbers are 0.4315,0.4146,0.8353, 0.9952, 0.8004,

tL'

; for generating,,t iandorl nrrmhers. How

I r U rYr ar Ks/w. I 7AJ, \,/. r JJ\-'

6 a. Explain ditferent steps in the development of a r"rselirl rnodel of input data. (06 Marks)
b. Lrst any four suggested estimators for distributions olten used in simulat,cn. (0,1 Marks)
c. The ntimber of vehicles arriving at the northwest co

period between 7.00 AM and 7.05 AM was monito
period. T'he following Table Q6 (b) shows the resuiti

. :,.,,:,,,,,.,,, _ 
,',

7 a. Explain the types of simulation with respep.t toroutput analysis. Give examples. (10 Nlarks)
b. Explain the repli.cafi"on method for steady-sidte simulation. (10 Marks)

..llrri.. .;, I -'"'l'lllll,,,..,

8 a. Explain with a neat diagram, the model building verification and validation. (10 Nlarks)
b. With a neat diagram, explain the iterative process of catibrating a rnodel. (10 NIarks)

,r. * {< >t< * {<
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. "l_,,- Eighth semester B.E. Degree Examipation, Aug./Sep t.2o2o

lnformation and Network Security
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Time: 3 hrs. "":,i, , 
r' 

Max. Marks:100

Note: Answer FIVEfirlt cluestiotts, selecting atleast TWo questiotts Ji.om eaclt part.

]. . . PART_A
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c. Briefly explain the need of operating system detecti

b. Who can attack c

(10 Marks)
(06 Marks)
(04 Marks)

(10 Marks)
(06 Marks)
(04 Marks)

and reception of PGP messages.
(10 Marks)
(05 Marks)
(05 Marks)

(10 Marks)
security associations. (10 Marks)

(10 Marks)
(10 Marks)

a. Write short notes on :

i) SSL handshake prorocol
iit SSL alert protocol.

b. List out the key features of secure electronic transaction and explain in detail.

c. Explain

*rk***
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Eighth Semester B.E. f)egree Examination, Aug./Sept. 2020
Ad-hoc Networks

Time: 3 hrs. Max. Marks:l0O

Nnte: Answer FfVE full questiorts, selecting atleast TWO questions fi.rtnt ectc:lt part.

PART _,,\

1 a. List ancl explain different applications of Acl-hoc wireless networks. (10 Marks)
b. ltxplain the issues that makes wireless sensor network a distinct category ol'Aci-hoc wireless

rtcl\oIks. 110 Marks)

2 zt. tJxplain collision avoidance time allocation plotocol fi'ame fonnat with a cliagram. (05 Marks)
b. What are the design goals to be met whiLe designing a MAC protocol fbr Ad-hoc networks?

(05 Marks)
c. trxplain with example, a working principle of Fir e-Phase Reservation Protoco ,,tiffJr;.;:;

3 a. Explain the working principle of multi-channel MAC (MMAC) protocol. (08 Marks)
lr. Irxplain MAC protocol using dircctional antennas. (06 Marks)
e . Irplnin lhe operation of distrihutcd priority scheduling (DPS) protocol. (06 Marks)

4 a. With an exatnple. explain the process of route cstablishment irr wirelcss rolrting protocol
irlorrg with its advantages and disadvautages. r l0 Marks)

b. Write the classification of routing protocol in detail. (10 Marks)

PART - B

a. I-ixplain the operation of Fisheyc state routingprotocol (FSRP).
lr \.\ lr;rt arc the advantages and disadvantagcs of CEDAR protocol?
L. Frpluiri zonc routing protocol.

a. Why does TCP not perfonn we ll in Acl-hoc wirclcss networks?
b. Fjxplain Ad-hoc TCP with state diagram for ATCP sender.

ri. Discnss the requircments and chalienges in security provisioning for
rrctworl<s.

b. Give the classification of security attacks on Ad-hoc wireless networks.
c. i,ist and give brief explanation of network layer attacks.

(10 Marks)
(03 Marks)
(07 Marks)

(10 NIarks)
(10 Marks)

Ad-hoc wireless
(10 Marks)
(04 Marks)
(06 Marks)

(10 Marks)
(10 Marks)

a. Discuss the
b. Explain the

nciple of Ticket * based QoS routing protocol.
providing QoS in Ad-hoc wireless network.

tt..,,*'
*****


